
 600 

 1
20

0 

A

A

B

B3

 300 

A

SECTION A-A
SCALE 1 : 9

2

11

DETAIL A
SCALE 1 : 1

11

10

2

SECTION B-B
SCALE 1 : 9

6

ITEM NO. PART NUMBER DESCRIPTION sff50760P6 
(2407716)/QTY.

1 sff05756P8 Welded box IP65 120x60x30 1
2 sff50757P11 Mounting plate 1
3 sff50759P10 Door for IP65 box 120x60 1
4 hinge in cabinet 3
5 - WASHER M4 DIN127  M4 A2 6
6 - BOLT M4X6 DIN7985 A2 PH 6
7 - Hinge pin D-5, L-80, A2 3
8 - Ficxing Ring for hinge pin A2 3
9 - Plastic plug D-5.1 RAL7035 6

10 101259 Nut-M6 DIN6926 A2 16
11 - Washer M6 DIN127 A2 4

D

E

F

C

1 2 3 4

B

A

321 5

C

D

4 6 7 8

A

B

Surface 

IP66
Project
- - 42443.26

mm, g
Units

NS-ISO 2768-1,M

Sheet thickness Weigth

Tolerance
1:10

Scale

Format
A3

RELEASED

Stansefabrikken Products AS

SFF50760P6

 

 GRA

Complete IP66 cabinet 
120x60x30

SolidWorks® 2007DAK-system:

Logo

Designer

Description

Rev.no Sheet/Sheets
7 /19

Filsti:

2020-03-03
X:\Public\CUSTOMERS\SFP\Project_ AISI_IP65_Cabinet-2013-06-05\Drawings_RFQ\2017-05-25 IP65 AISI316 cabinets ACC\sff50760

Drawing no

Department

Document status

Date

Material
AISI316

2. Designer

This d
raw

ing is the property of Stansefabrikken Fred
rikstad

 A
S, Fred

rikstad
 N

orw
ay and

 m
ust

not be transferred
, lent or reprod

uced
 w

ithout an explisit w
ritten perm

ission from
 the com

pany 

 Product manager

A


	SFF50760P6
	Drawing View92
	Drawing View96
	Section View A-A
	Detail View A (1 : 1)
	Section View B-B




